M.Sc. Nursing (Set-A)

The pineal gland situated in
(A) Fourth ventricle (B) Third ventricle
(C) Midline of the brain (D) In the corpus callosum

Normal clothing time is

(A)1 -3 mts (B)5—-10 mts

(C)4 —8 mts (D) None of these

Which is the physical sterilization method to control bacteria

(A) Filtration (B) Steam under pressure

(C) Scrubbing (D) None of these

The normal blood PH

(A) 20 (B) 07 (C)08 (D)7.35t0 7.45
Cholesterol from the liver is transported to the tissue mainly by

(A) HDh (B) LDh (C) NDh (D)None of these
The symbol under five clinics outer line denotes.

(A) Care in iliness (B) Family planning

(C) Health education (D) Prevention care

The medical termination of pregnancy act was established on

(A) 1971 (B) 1973 (C) 1970 (D) 1975
Incubation period of rabies is

(A) 1 to 6 weeks (B) 4 to 6 weeks
(C) 3 to 8 weeks (D) 2 to 10 weeks
Srivastav committee was lunched in

(A) 1956 (B) 1965 (C) 1980 (D) 1975



